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7 100kN/mM%E#BZ 5 — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3mZEBZ D -~ — — —
s 1.00 | 0.00 ~ 452 56.41 | S | 000 ~ 0.00| 1.57 8.38 Thlst 1.00 | 6.00 ~ 5.00 56.41 | =hs | 5.00 ~ 6.00)| 1.57 8.38
2 100kN/mM%#BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#8Z% — - ~ — — |3m%iBZ B - ~ — — —
s 1.00 | 000 ~ 702 89.01 | =St | 0.00 ~ 0.00| 1.65 8.81 Thst 1.00 | .00 ~ 9.10 89.01 | =nhs | 5.00 ~ 910 1.65 8.81
3 100kN/mM%E{BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#8Z.% — - ~ — — |3m%iBZ D - ~ — — —
st 1.00 | 0.00 ~ 764 97.87 | #nLS | 000 ~ 7.64| 202 10.82 st 1.00 | 6.00 ~ 1080 97.87 | #nLs | 5.00 ~ 1080 2.02 10.82
4 100kN/mM%E#BZ % — - ~ — —|3mZEiBZB| — ~ — — — | 100kN/m%#8Z% — - ~ — — |3ImEBZ D -~ — — —
ZhLst 1.00 | 0.00 ~ 698 88.66 | =ns | 000 ~ 698 1.72 923 zhLst 1.00 | 6.00 ~ 870 88566 | #nLs | 5,00 ~ 870\ 1.72 9.23
5 100kN/m%E#8z5| 1.00 | 000 ~ 007 101.03 |3m&EBZZ| — ~ — — — | 100kN/m#%#8z25% | .00 | 1080 ~ 1100| 101.03 |3m%EEBZ3 -~ — — —
s 1.00 | 0.07 ~ 7.86 100.00 | =nLst | 0.00 ~ 7.86 | 2.08 11.13 Thst 1.00 | 6.00 ~ 1080 100.00 | =nLSt | 6,00 ~ 1100| 2.08 11.13
p 100kN/mM%EBZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#B %% — - ~ — — |3m%iBZ B - ~ — — —
s 1.00 | 0.00 ~ 7.70 9873 | EnS | 000 ~ 7.70 | 2.06 11.00 Thst 1.00 | 6.00 ~ 1070 98.73 | =ns | 5.00 ~ 1070 2.06 11.00
7 100kN/mM%E{BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ.% — - ~ — — |3m%iBZ D - ~ — — —
ThLst 1.00 | 0.00 ~ 4.69 5845 | =ns | 000 ~ 469 1.83 979 Zhst 1.00 | 6.00 ~ 56.00 5845 | NS | 5,00 ~ 56.00| 1.83 979
100kN/MZ#8Z % ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZFnLst ~ ZFnLst ~ Zhust ~
100kN/MZ#2Z % ~ 3ImEBRD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhs ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/M%#8Z % ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/MZ#2 2 % ~ 3ImEERD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/MZ#22 % ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thilst ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/mMZ#8 2 % ~ 3mEBR D ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/MZ#22 % ~ 3mEBRD ~ 100kN/mM%E# 25 ~ ImERZD ~
zhsn ~ znLst ~ ZznLst ~ Zhust ~
100kN/MZ#82 % ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zhust ~




